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Instructor:         ______________________ Section No.:  _________
Date:
______________
· Abstract:

1) The aim of the experiment:
…………………………………………………………………………………………

…………………………………………………………………………………………

2) The method used: …………………………………………………………

      …………………………………………………………………………………………

…………………………………………………………………………………………

3) The main results are:

    


R =                  ±     

                          Rs =                 ±

                          Rp =                 ±

· Theory: 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………
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…………………………………………………………………………………………………
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· Procedure:

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

· Data: 

Part A (one resistance used in the circuit, either R1 or R2):
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	6
	Average


	I(mA)


	
	
	
	
	
	
	

	V(volt)


	
	
	
	
	
	
	


Part B (R1 and R2 in series):

Vs = __________________ (Vs =  ________________
Is = __________________   (Is = ________________

Part C (R1 and R2 in parallel):

Vp = _________________  (Vp = ________________

Ip = __________________ (Ip=__________________ 

· Calculations:

R  = __________________________________________
(R = _______________________________________________
___________________________________________________
Resistance R1 from color code =                  ±
Resistance R2 from color code =                   ± 
R1 and R2 in series: 

Rs = ____________________________________________
(Rs = ___________________________________________
_____________________________________________________
R1 and R2 in parallell: 

Rp = __________________________________________________

(Rp = __________________________________________________

· Results and Conclusion:

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………
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